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10. SICKLE CELL ANEMIA: Abnormal red blood cells. 1 in 600 black children

are affected. This is an autosomal recessive disorder.

11. TAY-SACHS DISEASE: A lipid storage disease affe i i
jews , and is an autosomal recessive dis%rder. e

Whatistheprobabilitythmifaoouplehas4 children that all 4 will be of the same
sex?

What is the probability that if a couple has 4 children that they will have 2 boys
and 2 girls, in any order?

A woman has a father who died of Huntington's disease. What is the probability
that she will develop the symptoms of the disease?

A couple are both tested and found to be carriers of the cystic fibrosis gene.If they
have 2 children, what is the chance that both will be affected by cystic fibrosis?
What is the chance that both will be carriers?

. For the couple in #4, what is the chance that they will have 2 girls that are both

o

affected by cystic fibrosis?
CHALLENGE QUESTION: A family has two children. You are told that one of
the two children is a boy. What is the probability that they have a boy and a girl

(in anv order)?




